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Graph G: find trees on y(G) vertices as subgraphs,
tight.

@ start with any colouring
o stack left, still =y classes (independent sets)

@ class i: at least one neighbour in j </ build T

@ What if we orient G? No guarantees on directions of arcs...
@ This talk: find k-vertex oriented subtrees when y = 7 (k).
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@ (k—1)? suffices for k-vertex trees [Burr '80].

Theorem (Addario-Berry, Havet, Lmhares Sales, Reed, Thomassé '13)
If a digraph D satisfies y(D) = 5 - £

+1 then D contains
every oriented tree on k vert/ces.

@ >2k—2 = paths, two-blocks paths*, diameter 3 trees
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Gluing leaves

Lemma (B '80; A-B,H,L-S,R,T '13)

@ Assume y(D)=c = k-vertex T, T >
@ then y(D)=c+2(k+/) = T with
¢ out (/in) leaves glued to T.
— O(k?).
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